‘ A STORY OF UNITS Lesson 20 Exit Ticket m

Name Date

1. Thirty-two jelly beans are shared by 8 students.

32 jelly beans

a. How many jelly beans will each student get?

Each student gets U elly beans becase 32+% =4

b. How many jelly beans will 4 students get?

It stodents will get-84otal of 1 jelly beans because &xk= .

2. The teacher has 30 apple slices and 20 pear slices. Five children equally share all of the fruit slices. How
many fruit slices does each child get?

20 spple slices 7.0 PR3 glices
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(o slices L slices

Each child will get b apple slices and L pear slices for 3 tofs| of
10 fruit slices.
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